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Unit 1 Review

Quadratic Functions

"Topics: @

e Properties of Quadratic Functions
« Forms of a Quadratic Equation

« Review of Factoring

e Zeros of a Quadratic

e Determining Max and Min Values
e Problem Solving with Quadratics
« Writing Quadratic Equations

e Linear-Quadratic Systems

e Transformations

Nelson Page 206 #s 9 - 14 & 26 - 30
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Solutions

9. Given the quadraric function f(x) = 3x* — 6x
ideaer sgordinates of the vertex.
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10. When the equation ofa quadratic function is in
factored form, which feature is most easily
determined?

a) y-intercepts c) vertex
ﬂﬁ[@b d) maximum value
N—
,F(x> = G\(Jc— r)("':_S)

11. The height, 4, in metres, of a baseball after Bill hits
it with a bat is described by the function
h(t) = 0.8 + 29.4¢ — 4.9¢, where ¢ is the time in
seconds after the ball is struck. What is the
maximum height of the ball?

a) 49m b) 294 m d) 25m
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1T Costs @ DUs company F223 10 Tun & minibus on
ski trip, plus $30 per passenger. The bus has seating
for 22 passengers, and the company charges $60 per
farc if i For cach empty scat, the

ase the ticket price by $5. How

uld the bus run with o

maximize profit from chis wip?
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13. Without drawing the graph, identify the function
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14. The graph of function f(x) = x> — kx + k£ + 8

touches the x-axis at one point. What are the possible

a) k= = c) k=0o0rk=1
) k= —4dork=28 d b= —8ork=4

| Thinkof ttas ()= Dcl—kx+(k+8>-

pohere a=l, b=-k, o= k+&

T
S £ (-3) = - (3 -1f3)-19
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27. The coordinates of the vertex for the graph of
y=(x+2)(x— 3)are

a) (—2,3) o (2,3 (~+g‘ ____2 (4
0 (57) T

— /
D:(x+?-)<-x’3> Y

28. The profit function for a new product is given by
P(x) = —4x? + 28x — 40, where x is the number
sold in thousands. How many items must be sold for

the ¢ eak even?
a) 2000 or 5000 c) 5000 or 7000
or 5500 d)

3500 or 7000

Rreak. even when p o€ =9
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29. Which of the following statements is not true for the
equation of a quadratic function?

a) In standard form, the y-intercept is — 2
clearly visible. b - o\k —" Bx
) In vertex form, the break-even poi@ 1
< clearly visible D —_— o\ (x —_ J_\) + k

c) In factored form, the x-intercepts are

clearly visible.

d) In vertex form, the coordinates of the vertex are — _@ ( . — @
clearly visible. ' Q ()c )

30. State the value of the discriminant, D, and the
number of roots for 7x*> + 12x + 6 = 0.
a) D=312,n=2 < D=
b) D=24,n=2
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